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g D GOSSH

15, Of 3P =3yt vzl -

1F,  Find the total derivative of 4 = 4 + ..1-'"1 withi rEspect (o fifxr=cofi,¥ = gin .
Compute the avorage value of the funetion [ (x, v, 2= xyz over the boundary of the cube
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0. Find the circulation of = (x,y)i + xj around the unit circls centersd ot the origin.
21. Find the value of & which makes the following vector f= (5"-1:1' =2 F . [{1 _'ijz]} -+[{1 -J"}'H;F 1
is irrotational .
<2, Verfy whether the differential e cos vde + [3‘-1' - gin .'r’] dy + (xy + 2)dz is exact or not.
23. If f and g are irrotational, then show that [ = @ is solenoidal,
24.  Evaluate IIHI +2) dvdx by changing the order of mntegration.
o'
25, Prove that if a function f(z, ¥) is differentiable at the origin, then it is continuous at the Origin.
26, Evaluate the integral j xydy - y'dx where ¢ is the square cut from the first quadrant by the lines
: _ que .
r=landy=1,
(10'x 4 =40 mﬂ.ﬂu‘lf
Part O
Anstvér any six questions,
Each question carries 7 marks.
Lids - ¥

7. Evaluate | [=-dyd
0x

5. Find f’f{r].if:‘-:xf+y}+z$.
). Show that the work done by the foree field f 3 —, e
- -- =928 4.2 4+ 2y & is independ ---
the points (-1, 8, 9) and (1,6, - 4), J 3% 15 independent of the path joining
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